NAME: Date: Grade:

(From Grade Calculation on last page)
Lesson 06
w Practice Drill 1 e

SoTrandate (22 answers):
T® Aa@ T® €V T cVVNY®YT 0 ANOGTOAOG ELMEV TO €VOYYEALOV TEPL T0V XPp1otoD. 0T€ aOTOL HKOVGOV
T0UTOV TOV AdYOV, £xatpov Kol £80Ealov Tov B0V d10 Ty Aydnny avTod Kol Ty coTnploy.

< Parse (28 answer 9):

® Ao@d (7 answers): 2 - Dat (Indir Obj) - M - S- Aadg, o -

@ €v 1 ovvnywyq (7 answers): 1 - Loc (Place) - F - S - cuvnyoyn, 1 -

0 andotorog (7 answers): 2 - Nom (Subj) - M - S - anéotorog, 0 -

einev (8 answers): 2 Aor (Const) - Act - Ind - 3- S- Aéyo -

10 evayyéiov (7 answers): 2 - Acc (Dir Obj) - N - S - gvayyéAtov, 10 -

nepl 100 Xprotod (7 answers): 2 - Gen (Ref) - M - S - Xpiotdg, ¢ - about

Ote (4 answers): Subordinate conjunction introducing dependent clause - when

avrol (10 answers): Pers Pron - Nom ( ) - M - P- abtdg, -1, -0 -

nkovooyv (8 answers): 1 Aor ( ) - Act - Ind - 3 - P - dxovo -

toVtov (10 answers): Dem Pron - Acc - M - S - ovtog, attn, 10910 -

T0v Adyov (7 answers): 2 - Acc ( ) - M - S-2Adyog, 0 -

€yapov (8 answers): Imperf ( ) - Act-Ind - 3 - P- yoipo - they began

Kat: coordinate conjunction -

€d00&aov (8 answers): Imperf ( ) - Act-Ind-3-P-do&alw - they began

tov Oeov (7 answers): 2 - Acc (Dir Obj) - M - S- 6gdg, 0 -

S0 tijv aydmny (7 answers): 1 - Acc (Cause) - F - S- ayadnn, ©| - because of

ovtod (10 answers): Pers Pron - Gen ( )-M - S-0vtog, -1, -0 -
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Koit: coordinate conjunction -

tiv cotnplav (7 answers): 1 - Acc ( ) - F- S- compla, © - (because of)

********************GRADE CAL CULATI ON********************

Nunber of Errors . Total Pts. 100. 00
M ssed accents and breathi ng marks
= 1/4 error per word M nus Pts.
Ti mes 2.00 M ssed
Total Pts. M ssed : G ade

(Pl ease record grade at top of page 1)



